
  List of Inhabitants of Tyree with their ages,  18th Oct.r 1792  

Fe Under From 20  to 50  to 70  to 80  to 90  to
Farms Males males 10 10 to 100 About Total

males years 20 years 50  years 70  years 80  years 90  years years 100

Scarinish 48 48 30 21 35 10 96
Hianish 27 26 15 12 19 7 53
Bágh 49 55 34 23 33 13 1 104
Crosapoll 26 32 15 20 15 8 58
Hilipoll 90 73 34 37 60 29 2 1 163
Ballano 39 48 21 17 30 14 3 2 87
Ballamartin 22 28 18 12 17 3 50
Mannal 10 9 3 9 5 2 19
Haynish 21 16 12 10 13 1 1 37
Ballafuil 6 4 1 5 3 1 10
Gortandoniel 21 22 11 14 8 10 43
Ballamianach 35 31 20 17 17 10 1 1 66
Sandaig 25 27 15 11 20 6 52
Grianal 22 29 10 13 18 10 51
Kilenneth Mor 14 13 8 2 10 6 1 27
Kerrannakille 5 9 3 4 4 2 1 14
Crossigar 24 26 15 4 26 4 1 50
Murstal 12 15 8 4 12 2 1 27
Hough 55 58 34 26 41 12 113
Ballavulin 78 73 55 28 48 17 2 1 151
Kilmaluaig 24 27 8 15 16 12 51
Cornaig-mor 64 82 40 35 51 18 2 146
Cornaig-beg 44 56 32 18 33 14 2 1 100
Kennovay 105 94 68 36 75 17 2 1 199
Ballafetrius 40 34 15 20 23 15 1 74
Vall 77 81 46 38 57 13 3 158
Salum 20 16 15 5 14 2 36
Ruaig 48 58 24 28 41 11 2 106
Keilis 79 79 52 31 52 18 4 1 158
Ard-Deas 19 19 12 12 8 5 1 38
Kirkapol 40 47 26 16 35 7 1 1 1 87
Gott 10 9 7 2 7 3 19

1199 1244 707 545 846 296 34 10 1 1 2443

Totals in colums if you add the male and females  match the total 2443 ,and if you take the totals from the census for each township they match 
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But if you add up the colums with their ages there are mistakes and you don't get the 2243 total


